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The function f(x) is defined by the dashed line on the graph below. The graph of 

each given transformation of f(x) will cross through four letters which can be 

unscrambled to form a common word. 



Transformation Word Letters  

f(x + 8)  
    

f(x) - 5  
    

f(x - 4)  
    

f(x + 6) + 7  
    

f(x + 7) - 8  
    

f(x + 6) + 3  
    

-f(x - 3) + 4  
    

-4f(x + 7)  
    

f(-2x)  
    

-f(2x) - 9  
    

-f(½x) - 2  
    

-½f(x + 4) - 5.5  
    

6f(⅓(x + 4)) + 3  
    

f(2(x - 6)) + 8  
    

f(-½(x - 5)) - 9  
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            ■■■■ WORD: 



A 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(x + 8)  

B 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(x) - 5 

C 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(x - 4) 

D 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(x + 6) + 7 

E 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(x + 7) - 8 



F 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(x + 6) + 3 

G 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

-f(x - 3) + 4 

H 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

-4f(x + 7) 

I 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(-2x) 

J 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

-f(2x) - 9 



K 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

-f(½x) - 2 

L 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

-½f(x + 4) - 5.5 

M 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

6f(⅓(x + 4)) + 3 

N 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(2(x - 6)) + 8 

O 
Graph the transformation below. Unscramble the four letters joined by 

the graph of the transformation to form a common word. 

 

f(-½(x - 5)) - 9 



A 
 

f(x + 8)  

B 
 

f(x) - 5 

C 
 

f(x - 4) 

D 
 

f(x + 6) + 7 

E 
 

f(x + 7) - 8 

F 
 

f(x + 6) + 3 

G 
 

-f(x - 3) + 4 

H 
 

-4f(x + 7) 

I 
 

f(-2x) 

J 
 

-f(2x) - 9 

K 
 

-f(½x) - 2 

L 
 

-½f(x + 4) - 5.5 

M 
 

6f(⅓(x + 4)) + 3 

N 
 

f(2(x - 6)) + 8 

O 
 

f(-½(x - 5)) - 9 



Transformations Word Search 
Name(s):  

A B C D E 
F G H I J 
K L M N O 

Transformations Word Search 
Name(s):  

A B C D E 
F G H I J 
K L M N O 

Transformations Word Search 
Name(s):  

A B C D E 
F G H I J 
K L M N O 

Transformations Word Search 
Name(s):  

A B C D E 
F G H I J 
K L M N O 



Puzzle Transformation Word 

A f(x + 8)  
   

B f(x) - 5  

   

C f(x - 4)  

   

D f(x + 6) + 7  

   

E f(x + 7) - 8  

   

F f(x + 6) + 3  

   

G -f(x - 3) + 4  

   

H -4f(x + 7)  

   

I f(-2x)  

   

J -f(2x) - 9  

   

K -f(½x) - 2  

   

L -½f(x + 4) - 5.5  

   

M 6f(⅓(x + 4)) + 3  

   

N f(2(x - 6)) + 8  

   

O f(-½(x - 5)) - 9  
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